1.

www.Padasalai.Net www.Trb Tnpsc.Com

[Class:11) ONE MARK EXAMINATION-SEPTEMBER-2022 [ 11— 11

COMPUTER APPLICATIONS [Max. Marks : 100

First generation computers used

q; Vaccum tubes ™)  b) Trarisistors c) Integrated circuits d) Microprocessors
2. “Name the volatile memory

a ROM b) PROM @ND d) EPROM
3. Identify the output device E\
a) Keyboard b) Memory Monitot use
4, I(;entif;lhe input devic ) S \“t% P
a) Printer Mouse > c) Plotter d) Projector
5. Output device is used for printing building plan, flex board, etc.
- 9 Thermal printer ¢) Dot matrix d) inkjet printer
6. InATMmachines, which one of the following is used to
a b) speaker c) Monitor d) printer
7. When a system restarts ------------- which type of booting is used.
a) _Warm booting >  b) Cold booting c) Touch boot d) Realboot
8. Expand POST ‘
a) poston self Test b) Power on Software Text
c) Poweron Self Test dy—Power on Self Test
9. Which one of the followoing.is the main memory? _
a) ROM ¢) Flashdrive d) Hard disk
10. .Which generation of computer used IC's?
a) First b) Second d) Fourth
11.  Which refers to the number of bits processed by ?
| a) Byte " b) Nibble @ Wordlengi> ) Bit
12.  How many bytes does 1 Kilobytes contain? « ’
a) 1000 b) 8 ) 4
13.  Expansion for ASCII @) American School Code for Information Interchange
by~ American Standard Code for Information Interchange’ :
c) AllStandard Code for Information Interchange d) American Society Code for Information Interchange
14, 2°50isreferredas’ ,
a) Kilo b) Tera 0) d) Zetta
15. How many characters can be handledin Binary Coded Decimal System?
a 64/ b) 255 ; ¢) 256 d) 128
16. For 11012 what is the Hexadecimal equivalent?
a) F Z bE B d B
17. Whatisthe 1's complement of 00 01107 : _
a) 00100110 11011001 c) 11010001 d) 00101001
18.  Which amongst this is not an Octal number?
2) 645 b2u - 4 123
19, Which of the following is said to be the brain of a computer?
a) Inputdevices b) Output devices ¢) Memory device @
20. Which of the following is not the part of a microprocessor unit? : ,
a) ALU b) Control unit d) register
21. How many bits constitute a word? _
2 8 b) 16 - ¢ 32 m
22 Which of the following device identifies the location when address is placed in the memory address register?
a) Locator b) encoder C d) multiplexer
23.  Which of the following is a CISC processor?
a) Intel P b) AMD K6 C)@ d) Pentium IV
24. Which is the fastest memory? '
a) Hard disk b) Main memory (©)_Cachememory> d) Blue - Ray dist
25,

How many memory locations are identified by a proce or with 8 bits address bus at a time?
a) 28 b) 1024 { d) 8000
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What is the capacity of 12cm diameter DVD with sin

2%. b) 5.5 GB gle sided and single layer?
4.7GB oahdein ~ ©) 78GB d) 22GB
97. Whatis the smallest siZ . seclorsepresemm in aCD? :
28 [a))jspt::;c:zwces are COﬂnectéd to the computer through. 9 tracks
‘ g port b) Ps/2 port c) S .
29. Sthiglfor%)fme following is CISC processor? } SSlpor @
a) IntelP b) AMD K6 ; _
30. lrjnetify the usage of Operating system o Zentium 9 Pentium IV
a) (E}asa:r inﬁqaclion between the human and computer
b) Controlling input & output devi : : C:
31.  Which of the foIlo?Ning is nFc)Jt a fun(C:::n ofan Oper;zinh::;:gg??use A e
b) Memory management c) SecurityM %) Pros = aef“e”‘”
o2. IOWing OSisa Commerically licensed O e |
perating system?
&]_Windows b UBUNTU ¢) FEDORA d) REDHAT
33. V\)’h'&‘_ o(fjthe fgllowmg Operating systems support Mobile Device?
a) Vvindows b) Linux
34. File Management manage)s i S
8) Flle'S ) b) Folders c) Directory systems d) @
35.  Interactive Operating system provides @ Graphics User Interface (GUI)
b) Datadistribution ) security management d) Real Time Processing
6. Andraldiza. a) Mobile Operating system b) Open source
c) Developed by Google
37. &ic_hgﬂbﬂa}b}wing refers to Android operating system's version?
a) JELLY BEAN b) UBUNTU c) OS2 d) MITTIKA
38.  From the options given below, choose the operations managed by the operati stem
a) Memory b) Processes ¢) Disks and 1/0 devices @@
39.  Whichis the default folder for many Windows Applications to save your file?
’ b) My Pictures " ¢) Documnets '
and settings d) My computer
40.  Under which of the following OS, the option Shift + Delete - permanently deletes a file or folder?
a) Windows 7 b) Windows 8 ¢) Windows 10 All the above
41, Whatis the meaning of “Hibernate” in Windows XP/Windows 77 ) :
a) Restartthe Computer in safe mode b) Restartthe Computer in hibernate mode
c¢)_ Shoutdown the Computer terminating all the running applications
ithout closing the runni'ggapplications :
" (~42. Which of the following OS is not based on Linux : :
a) Ubuntu b) Redhat ¢) CentOs d) BSD
43.  Which of the following in Ubuntu OS is used to view the options for the devicesTAstalled?
b) Files ¢) Dash d) VBox - GAs -5.2.2
44. |dentify the default email client in Ubuntu.
b) Firefox c) internetExplorer d) Chrome
45. Which of the default applications for spreadsheets in Ubuntu? This is availabloe in the software launcher.
a) LibreOffice Writter \-: ) LibreOffice Impressd) LibreOffice Spreadsheet
46. Whichis the default browser fo Ubuntu?
a)_Firefox > " b) InternetExplorer  ¢) Chrome d) Thuriderbird
|_47.  Where will you select the option to log out, suspend, restart, or shut down from the desktop of Ubuntu 0S?
Session Indica b) Launcher c) Files *d) . Search
48. InHTML, colours are represented as :
a) Binary values b) Octal Values ~ ¢) Decimal Values exadecainm
49. Which of the following s/ymbol attribute is used to prefix with hexadecimal value representing colour in HTML?
ca) % (s ) @ d & '
50.

Which of the following symbol is used to change text colour within body tag?

b) background c) text d) color
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f 51.  Within body section, which of the fo|

lowi : -
2) margin B) top Owing attribute lst used lo Settop margin?
52. /owmany levels theadlngtages avilab| op argin D d) leftmargin
ei
53.  Thetag used todefine a&aiapg/agh in HTML. ) 8 9 3
a) <para> oh i
54 Whichis the opening screen >en of OpenOffice? . d) <br>
a) Stardesktop Qr&ce/nlgr\ o)
Star screen d) St
55.  Which ntier-alows youTo assign text, tables, ) Starwindow
AU b) Aultomatic gﬁ) :jma;q‘ad\?other items to a key or key combination
56. Which menu contains the Numbermg option sednic: B d) Autographics
a) File b) Edit c) Tools Bormal D
57.  Which is displayed at the top most part of the wmdow? 4)_Format _
a) Menu bar b) Tool bar Title bar d) Formatbar

58. Whi@,,tsghang@gthe default appearance of the text cailed?
Text formatting b) Page formatting ¢) Special formating

- d) Paragraph formatti
59. Thefind & Replace option is available in which menu? grap tting
6 Edit

a) File c) Format d) Tools
60. Which button selects @c_es/of the search text in the document?
a) Find b) Fm ¢) Replace ~ d) ReplaceAll

61.  Whatis the shortcut key to go to the start of the document?
a) b) Ctrl + End c) Home d) End
62.  What is the shortcut key for finding and replacing text in a document? '

a) Ctrl+F1 b) Ctrl + F4 c) Ctrl+F5 di__Ctrl +
F
63. - What is the short cut key for Undo? O

3 Cii+E b Ctr+U . 9 Cil+n

64.  Which is the first electronic spreadsheet? -

a) Excel b) Lotus 1-2-3 @ d) opénofﬁce Calc
65.  Which of the following applicatons was the parentte-OperOffice Calc? -

a) Visicalc b) Librecalc  ¢) Lotus 123 StarOffice Calc
66. Grid of cells with a programmable calculator

a) b) Database é) Word processor  d) Linux
67.  Acolumn heading in Calc is represented using

a) Number ~b) Symbol c) Date (@
68. Which key is used to move the cell pointer in the forward direction within the workshee?

a) Enter ' 'ﬁm ‘ c) Shif + Tab d) Delete
69. A la in calc may begin with | _
= b) + c) - d) allthe above
70. What will be the result from-the following formula (Assume A1=5, B2 = 2)? + A1B2
a) 7 “ c) 10 d) 52
71. What will be the result fro following expression (Assume H1 = 12, H2 = 12)?=H1< >H2
a) true ; @ ¢) 24 Q) 1212
72.  Which of the following,symbol is used to make a cell address as an absorence?
a) + b) % S0 & Q3
73. hich of the following key combinations is used to increase the width of the current column?
b) Ctrl + Rightarrow  ¢) Alt+Leftarrow  d) Ctrl+ Leftarrow
74. ~Whichis used to move quickly from one slide to another?
a) Compass 1] Navigator— c) Fill color d) Page border

75.  Which is the shortcut key to view the sldeshow?

3 F6 b) F9 @ 9 F10
76. Inimpress, which views shows thumbnial versions of all your slides arang;inheﬁi tal row
: Slide sort

a) Notes b) Outline c) Handout

77. ldenti default veiw in Impress . :
a@ b) Slide sorter ¢) Handout d) notes
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78. Which menu contains the slide Transition option?
Ca)_Slide show) b) View o) Tocks
79. |dentify the extension of the Impress presentation
@ _.odp > b) .ppt ¢) odb 5 oo
80. i presentation tools, the entry effect as one siide replaces another slide in a'slnde show. Identify the option that
suits after reading the statement. _

2) Animation ~b) Slide Transiton) ¢) Custom animation d) Rehearse Timing

81. Vanyahas made a presentation on “Global Warming” She wants to progress her s|
speaks on the topic in the class. Which features of Impress would sheguse'? CeskaiEmelsipars

a) CustomAnimation cb)RehearseTiming™>  ¢) Siide Transition d) Either (a
82. Whatis the expansion of WLAN? i (a) or (b)

a) Wireless Local Area Network ( b) Wired local Area Nc:two?k‘)
c) Wireless Local Area Network Wireless Area Netbande

83. Range of Campus Network is
84, [Each computer on netis called

Q%h@ b) server c) workstation d) node
85. e internet is governed by

a) ICANM CBIICANN™Y  ° ) ICMA d) ICNNA

86. Expansionof W3C F-World Wide Web Consorfiu b) Wide World Web Consortium
c) World Web Wide Consortium orld Wide Web Consortium
87. W3C was establi in 1994 by

) Timg Bemners -Lee) b) TimBumedLee  ¢) Kim Bemers
88. Hotspot uses which type of network services?

d) Format

d) Kim Bernard Lee

a) LAN b) PAN c) WLAN d) CAN
89. USB WiFiadapters are often called as
a) DataCard b) Pen Dri '7
90. Looking forinformation on)the intelr‘:\eet is called @ S ey Care
@ET_Syrﬁng> b) searching ¢) finding d) glancing
91.  Safari web browser was developed by
a) Google b) Apple c) Microsoft d) Linux Corpon
92. How many types of websites are available?
a 3 & c) 4 . d) 6
93. HTML s acronym for W av K
@) Hyper Transfer Markup Language b)_Hyper Text Makeup Language
¢) Hyper Transfer Makeup Language ~ ) Hyper Text Makeup language -
94. The co_‘ed HTML keywords that indicates how web browser should format and display the content is called ----
a) Tags b) Attributes ¢) Headings d) Body
95. ich of the following is a special word used inside tag to specify additional information to the tag?

a) Tags ¢) Headings 4 Body
96. HTML tags should be specified within:

) (] 0) () 9 () @ <35
97.

An HTML document is bounded within a pair of ------—- tags

b) <title>.......... </title>

d) <head> ......<head>
98. Which of the following symbol is used to define a closing tag?

8 <> b) % Ca 1 g \
99. Which section of the browser window displays the main contents?

a) Head Bod c) Title d) Heading
100. Which of the following tag is a structural tag?

b) <h1> ¢) <br> d <p>

~ Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}



